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A:Choose the correct answer:

Lo s a nice bed.
A)There is B)There are c)Are there
2-This picture is .......ceeen.eee.
A)stove B)rug c)sink.
3- The missing latter in (conv_nience store) is :
A)e B)i C)a
4-The missing letter in (par_)is :
A)m. B)f C)k.
5-The meaning of “trust me” is:
A)ignore me B)punish me. C)believe me.
6-Ali lives ------------- Main Street.
A)On. B)in C)with.
7-1 live -------- Riyadh .
A)on. B)in C)with.
8-The present progressive (He------------ his brother):
A)is call B)are calling. C)is calling.
9-The answer of “Are they studying” is :
A)yes ,are they. B)yes, is they. C)yes ,they are.

10-The meaning of “what’s up”?
A)what’s happening? B)what’s your job? C)Nothing

11-1 think that the pizza at Roma’s is ----------- (good) than Gino’s.
A)best B)not good. C) better.
12---mmm e table and chairs :
A)There is B)There are C)Is there.
13-This picture is:
A)lamp. B)sofa. C)desk
14- - " is a place with many stores:
A)mall. B)bookstore. C)supermarket.

15)The meaning of “you can’t miss it” is:
A)you’re sure to see it. B)you’re sure to missit. C)both.

B)Put True or false :
1-“There not is bathroom” is correct negative form. ( )
2-Restaurant is a place to exercise . ( )
3-We use “present progressive” for actions are happening now at the
moment. ( )
4-The meaning of “check out” is looking for information( )
5-Cave house is an example for “usual house”( )
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